i

= Sleeve

=
=
S
o - FyE X
mRRsE S == A=}
EDP NO. 28 2o L2 1L AL s PRt R Applicable Tools
SP250.0412 40 | 12 | 20 | 100 | 22 | 6.0 | M4*6
SP250.0416 40 | 16 | 20 | 100 | 22 | 6.0
SP250.041905 40 |19.05] 20 | 100 | 25 | 6.0 | M4a=*g
SP250.0420 40 | 20 | 20 | 100 | 26 | 6.0 XX.20.XXX
g LT-2 XX.30.XXX
P250.0422 40 | 22 | 20 | 100 | 28 | 6.0 i
SP250.0423 40 | 23 | 20 | 100 | 28 | 6.0
M4 *12
SP250.0425 40 | 25 | 20 | 100 | 30 | 6.0
SP250.04254 40 | 254 | 20 | 100 | 30 | 6.0
SP250.0612 60 | 12 | 20 | 100 | 22 | 7.0 | M5%6
SP250.0616 60 | 16 | 20 | 100 | 22 | 80
SP250.061905 60 |19.05] 20 | 100 | 25 | 80 | M5*8
SP250.0620 60 | 20 | 20 | 100 | 26 | 80 A XX.50.XXX
SP250.0622 60 | 22 | 20 | 100 | 28 | 8.0 : XX.60.XXX
SP250.0623 60 | 23 | 20 | 100 | 28 | 8.0
M5 *10
SP250.0625 60 | 25 | 20 | 100 | 30 | 8.0
SP250.06254 60 | 254 | 20 | 100 | 30 | 8.0
SP250.0816 80 | 16 | 20 | 100 | 22 | 9.0
SP250.081905 80 |19.05] 20 | 100 | 26 | 9.0 | M5*6 | LT-2.5
SP250.0820 80 | 20 | 20 | 100 | 26 | 9.0 X 70X%X
SP250.0822 80 | 22 | 20 | 100 | 28 | 9.0 e i
SP250.0823 80 | 23 | 20 | 100 | 28 | 9.0
M6 *10 | LT-3
SP250.0825 80 | 25 | 20 | 100 | 30 | 9.0
SP250.08254 80 | 254 | 20 | 100 | 30 | 9.0
SP250.101905 100 [19.0s] 20 100 [ 26 [10 [
SP250.1020 00| 20 | 20 | 100 | 26 | 11.0
SP250.1022 100 | 22 | 20 | 100 | 28 | 11.0
LT3 XX.100.XXX
SP250.1023 100 23 [ 20 [T100 |28 [10|
SP250.1025 100 | 25 | 20 | 100 | 30 | 11.0
SP250.10254 100 | 254 | 20 | 100 | 30 | 11.0
SP250.121905 120 [19.05] 20 | 100 [ 26 [ 130 |
SP250.1220 120 | 20 | 20 | 100 | 26 | 13.0
SP250.1222 120 | 22 | 20 | 100 | 28 | 13.0
LT3 XX.120.XXX
SP250.1223 120 [ 23 [ 20 {100 [ 28 [130| .o
SP250.1225 120 | 25 | 20 | 100 | 30 | 13.0
SP250.12254 120 | 254 | 20 | 100 | 30 | 13.0

114



L3

EE

[ §

A |
(o) obs O Fo—] —E
\ / 1 r
|
L j T@
S-
= ;:FI_JU N
I:IlEl:lliﬁ:ll\T(s)ﬂ? 2 oD L2 L ODs | Oda | Bk U JE)plicable Toc;Is
SP5650.0416 40 | 16 | 10 | 75 | 15 | 60 | M4*5
SP5650.0417 40 | 17 | 10 | 75 | 15 | 60
SP5650.041905 40 J190s] 10 |75 18 60 |
SP5650.0420 40 | 20 | 10 | 75 | 18 | 60
SP5650.0420-L.100 40 | 20 | 10 | 100 | 18 | 60 HOCAUEOOK
SP5650.0422 40 | 22 | 10 | 75 | 20 | 60 LT2 XX.30.XXX
XX.40.XXX
SP5650.0423 40 | 23 | 10 | 75 | 21 | 60
SP5650.0423-L.100 40 | 23 | 12 [ 100 | 21 | 60 | Ma=s
SP5650.0425 40 | 25 | 12 | 75 | 22 | 60
SP5650.04254 40 | 254 | 12 | 75 | 22 | 60
SP5650.0616 60 | 16 | 10 | 75 | 15 | 7.0 | Ma*5 | L12
SP5650.0617 60 | 17 | 10 | 75 | 15 | 70
SP5650.061905 60 [1905] 10 [ 75 [ 18 [ 70| .
SP5650.0620 60 | 20 | 10 | 75 | 18 | 70
SP5650.0620-L100 60 | 20 | 10 | 100 | 18 | 7.0 XX.50.XXX
SP5650.0622 60 | 22 | 10 | 75 | 20 | 70 LT-2.5 XX.60.XXX
SP5650.0623 60 | 23 | 10 | 75 | 21 | 70
SP5650.0623-L100 60 | 23 | 15 | 100 | 21 | 70 | M5%6
SP5650.0625 60 | 25 | 15 | 75 | 22 | 70
SP5650.06254 60 | 254 | 15 | 75 | 22 | 70
SP5650.0816 80 | 16 | 10 | 75 | 20 | 9.0
SP5650.0817 80 | 17 | 10 | 75 | 20 | 90 | M5%6 | LT2.5
SP5650.081905 80 |1905] 10 | 75 | 22 | 9.0
SP5650.0820 80 | 20 | 10 | 75 | 22 | 90 X 70X
SP5650.0822 80 | 22 | 10 | 75 | 22 | 90 X 80X XX
SP5650.0823 80 | 23 | 10 | 75 | 22 | 9.0
M6*6 | LT-3
SP5650.0823-L 100 80 | 23 | 15 | 100 | 22 | 9.0
SP5650.0825 80 | 25 | 15 | 75 | 22 | 90
SP5650.08254 80 | 254 | 15 | 75 | 22 | 9.0
SP5650.101905 100 [1905] 15 | 75 | 20 | 11.0
SP5650.1020 100 20 | 15 | 75 | 20 | 11.0
SP5650.1022 100 22 | 15 | 75 | 20 | 110
SP5650.1023 00| 23 | 15 | 75 | 24 | 110 | M6*6 | LT3 XX.100.XXX
SP5650.1023-L100 100 | 23 | 15 | 100 | 24 | 11.0
SP5650.1025 100 ] 25 | 15 | 75 | 24 | 11.0
SP5650.10254 100 | 254 | 15 | 75 | 24 | 11.0

116



	2021_HOL (網頁) 內頁 114
	2021_HOL (網頁) 內頁 116

